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Data una funzione  𝑦𝑦 = 𝑓𝑓(𝑥𝑥)  sia  D il suo dominio e sia  𝒙𝒙𝟎𝟎 un punto di accumulazione per il dominio 
 

𝑙𝑙𝑙𝑙𝑙𝑙
𝑥𝑥→𝑥𝑥0

𝑓𝑓(𝑥𝑥) = 𝑙𝑙 

 

∀ 𝐼𝐼𝑙𝑙 ∃ 𝐼𝐼𝑥𝑥0:∀𝑥𝑥 ∈ (𝐼𝐼𝑥𝑥0 ∩ 𝐷𝐷) − {𝑥𝑥0}  ⇒ 𝑓𝑓(𝑥𝑥) ∈ 𝐼𝐼𝑙𝑙 

∀ 𝜀𝜀 > 0 ∃ 𝛿𝛿 > 0 ∶ ∀𝑥𝑥 ∈  𝐷𝐷 ∶  0 ≠ |𝑥𝑥 − 𝑥𝑥0| < 𝛿𝛿 ⇒ |𝑓𝑓(𝑥𝑥) − 𝑙𝑙| < 𝜀𝜀 

∀ 𝜀𝜀 > 0 ∃ 𝐼𝐼𝑥𝑥0 ∶  ∀𝑥𝑥 ∈ (𝐼𝐼𝑥𝑥0 ∩ 𝐷𝐷) − {𝑥𝑥0} ⇒ |𝑓𝑓(𝑥𝑥) − 𝑙𝑙| < 𝜀𝜀 

lim
𝑥𝑥→𝑥𝑥0

𝑓𝑓(𝑥𝑥) = +∞ 

 

∀ 𝐼𝐼+∞ ∃ 𝐼𝐼𝑥𝑥0 ∶ ∀𝑥𝑥 ∈ (𝐼𝐼𝑥𝑥0 ∩ 𝐷𝐷) − {𝑥𝑥0} ⇒ 𝑓𝑓(𝑥𝑥) ∈ 𝐼𝐼+∞ 

∀ 𝑀𝑀 > 0 ∃ 𝛿𝛿 > 0 ∶ ∀𝑥𝑥 ∈  𝐷𝐷 ∶  0 ≠ |𝑥𝑥 − 𝑥𝑥0| < 𝛿𝛿 ⇒ 𝑓𝑓(𝑥𝑥) > 𝑀𝑀 

∀ 𝑀𝑀 > 0  ∃ 𝐼𝐼𝑥𝑥0 ∶ ∀𝑥𝑥 ∈ (𝐼𝐼𝑥𝑥0 ∩ 𝐷𝐷) − {𝑥𝑥0}  ⇒ 𝑓𝑓(𝑥𝑥) > 𝑀𝑀 

𝑙𝑙𝑙𝑙𝑙𝑙
𝑥𝑥→𝑥𝑥0

𝑓𝑓(𝑥𝑥) = −∞ 
 

∀ 𝐼𝐼−∞ ∃ 𝐼𝐼𝑥𝑥0 ∶ ∀𝑥𝑥 ∈ (𝐼𝐼𝑥𝑥0 ∩ 𝐷𝐷) − {𝑥𝑥0} ⇒ 𝑓𝑓(𝑥𝑥) ∈ 𝐼𝐼−∞ 

∀ 𝑀𝑀 > 0 ∃ 𝛿𝛿 > 0 ∶ ∀𝑥𝑥 ∈  𝐷𝐷 ∶  0 ≠ |𝑥𝑥 − 𝑥𝑥0| < 𝛿𝛿 ⇒ 𝑓𝑓(𝑥𝑥) < −𝑀𝑀 

∀ 𝑀𝑀 > 0  ∃ 𝐼𝐼𝑥𝑥0 ∶ ∀𝑥𝑥 ∈ (𝐼𝐼𝑥𝑥0 ∩ 𝐷𝐷) − {𝑥𝑥0}  ⇒ 𝑓𝑓(𝑥𝑥) < −𝑀𝑀 

 

𝑙𝑙𝑙𝑙𝑙𝑙
𝑥𝑥→+∞

𝑓𝑓(𝑥𝑥) = 𝑙𝑙 

 

∀ 𝐼𝐼𝑙𝑙 ∃ 𝐼𝐼(+∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(+∞) ∩ 𝐷𝐷) ⇒ 𝑓𝑓(𝑥𝑥) ∈ 𝐼𝐼𝑙𝑙 

∀ 𝜀𝜀 > 0 ∃ 𝑁𝑁 > 0 ∶ ∀𝑥𝑥 ∈  𝐷𝐷: 𝑥𝑥 > 𝑁𝑁 ⇒ |𝑓𝑓(𝑥𝑥) − 𝑙𝑙| < 𝜀𝜀 

∀ 𝜀𝜀 > 0 ∃ 𝐼𝐼(+∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(+∞) ∩ 𝐷𝐷) ⇒ |𝑓𝑓(𝑥𝑥) − 𝑙𝑙| < 𝜀𝜀 

𝑙𝑙𝑙𝑙𝑙𝑙
𝑥𝑥→+∞

𝑓𝑓(𝑥𝑥) = +∞ 

 

∀ 𝐼𝐼(+∞) ∃𝐼𝐼(+∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(+∞) ∩ 𝐷𝐷) ⇒ 𝑓𝑓(𝑥𝑥) ∈ 𝐼𝐼(+∞) 

∀ 𝑀𝑀 > 0 ∃ 𝑁𝑁 > 0 ∶ ∀𝑥𝑥 ∈ 𝐷𝐷 ∶  𝑥𝑥 > 𝑁𝑁 ⇒ 𝑓𝑓(𝑥𝑥) > 𝑀𝑀 

∀ 𝑀𝑀 > 0 ∃ 𝐼𝐼(+∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(+∞) ∩ 𝐷𝐷) ⇒ 𝑓𝑓(𝑥𝑥) > 𝑀𝑀 

𝑙𝑙𝑙𝑙𝑙𝑙
𝑥𝑥→+∞

𝑓𝑓(𝑥𝑥) = −∞ 

 

∀ 𝐼𝐼(−∞) ∃𝐼𝐼(+∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(+∞) ∩ 𝐷𝐷) ⇒ 𝑓𝑓(𝑥𝑥) ∈ 𝐼𝐼(−∞) 

∀ 𝑀𝑀 > 0 ∃ 𝑁𝑁 > 0 ∶ ∀𝑥𝑥 ∈ 𝐷𝐷 ∶  𝑥𝑥 > 𝑁𝑁 ⇒ 𝑓𝑓(𝑥𝑥) < −𝑀𝑀 

∀ 𝑀𝑀 > 0 ∃ 𝐼𝐼(+∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(+∞) ∩ 𝐷𝐷) ⇒ 𝑓𝑓(𝑥𝑥) < −𝑀𝑀 

 

𝑙𝑙𝑙𝑙𝑙𝑙
𝑥𝑥→−∞

𝑓𝑓(𝑥𝑥) = 𝑙𝑙 

 

∀ 𝐼𝐼𝑙𝑙 ∃ 𝐼𝐼(−∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(−∞)  ∩ 𝐷𝐷) ⇒ 𝑓𝑓(𝑥𝑥) ∈ 𝐼𝐼𝑙𝑙 

∀ 𝜀𝜀 > 0 ∃ 𝑁𝑁 > 0 ∶ ∀𝑥𝑥 ∈  𝐷𝐷 ∶  𝑥𝑥 < −𝑁𝑁 ⇒ |𝑓𝑓(𝑥𝑥) − 𝑙𝑙| < 𝜀𝜀 

∀ 𝜀𝜀 > 0 ∃ 𝐼𝐼(−∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(−∞) ∩ 𝐷𝐷) ⇒ |𝑓𝑓(𝑥𝑥) − 𝑙𝑙| < 𝜀𝜀 

𝑙𝑙𝑙𝑙𝑙𝑙
𝑥𝑥→−∞

𝑓𝑓(𝑥𝑥) = +∞ 

 

∀ 𝐼𝐼(+∞) ∃𝐼𝐼(−∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(−∞) ∩ 𝐷𝐷) ⇒ 𝑓𝑓(𝑥𝑥) ∈ 𝐼𝐼(+∞) 

∀ 𝑀𝑀 > 0 ∃ 𝑁𝑁 > 0 ∶ ∀𝑥𝑥 ∈  𝐷𝐷 ∶  𝑥𝑥 < −𝑁𝑁 ⇒ 𝑓𝑓(𝑥𝑥) > 𝑀𝑀 

∀ 𝑀𝑀 > 0 ∃ 𝐼𝐼(−∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(−∞) ∩ 𝐷𝐷) ⇒ 𝑓𝑓(𝑥𝑥) > 𝑀𝑀 

𝑙𝑙𝑙𝑙𝑙𝑙
𝑥𝑥→−∞

𝑓𝑓(𝑥𝑥) = −∞ 

 

∀ 𝐼𝐼(−∞) ∃𝐼𝐼(−∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(−∞) ∩ 𝐷𝐷) ⇒ 𝑓𝑓(𝑥𝑥) ∈ 𝐼𝐼(−∞) 

∀ 𝑀𝑀 > 0 ∃ 𝑁𝑁 > 0 ∶ ∀𝑥𝑥 ∈  𝐷𝐷 ∶  𝑥𝑥 < −𝑁𝑁 ⇒ 𝑓𝑓(𝑥𝑥) < −𝑀𝑀 

∀ 𝑀𝑀 > 0 ∃ 𝐼𝐼(−∞) ∶ ∀𝑥𝑥 ∈ (𝐼𝐼(−∞) ∩ 𝐷𝐷) ⇒ 𝑓𝑓(𝑥𝑥) < −𝑀𝑀 
 

xo 

l 

● 

● 

x0 

x0 

l 

l 


